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Instructions for Candidates

I

Write your Roll No. on the top immediately on receipt of this question paper.

2. The paper is divided in three sections A, B & C all questions from each section
should be attempted together.

3. All questions are compulsory.

4. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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SECTION - A (WUg &)

(a) Describe the circular flows of money in a three sector economy. (5)
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(5} Show how the nominal supply of money depends upon the supply of high

powered money, the currency deposit ratio and the reserve ratio. (10)
OR

{a) How is equilibrium determined in the financial markets in the classical

framework 7 (5)

(b) Explain the Baumol — Tobin transactions demand for money. {10)
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2. {a) What is the impact of Autonomous Spending on the level of rate of interest
(r) and levei of Income (Y)? (10}
(b) How can “Crowding Out” be * accommodated’ ? (5
OR

{a) Examine the effectiveness of monetary and fiscal policy in the following

cases :
{) The Liquidity Trap

{(11) The Classical Case (10)
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{b) Distinguish between the Keynesian and the Classical Aggregate Supply
Curves. (3)
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SECTION - B (®@vs @)

3. Given the following information :

Consumption : C=200+ 075 Yd
Taxes : TA =200
investment 1 =200 - 251
Government Expenditure G =200

Demand for Money : L =0.5Y - 501
Nominal Money Supply M =900

Price Level . P=3

(a) Determine equilibrium income and the rate of interest.

(b) If Govt. expenditure is increased by 150, determine :
(i) The change in the level of income

(i) The shift in the IS curve
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(c) [If the increase in Govt. expenditure is accompanied by an increase in taxes

by 150, what is the change in the level of income ? (6+5+4)
OR

Given the following information :

Consumption : C=100+075Yd
Taxes . TA = 0.2Y

Transfer Payments . TR = 80

Investment : 1=396 - 161
Government Expenditure ¢ G =340

Demand for Money : L=02Y-8i
Nominal Money Supply : M =400

Price Level . P=2

(a) Determine equilibrium income and the rate of interest
(b) Calculate the Fiscal Policy Multiplier and the Monetary Policy Multiplier

(¢) [fequilibrium income has to be increased by 180, determine :
(i) The required increase in Govt. expenditure

(i) The required increase in real money supply. (6+5+4)
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Consumption : C=200+0.75Yd
Taxes : TA =200
[nvestment : 1 =200-25i
Government Expenditure : G =200

Demand for Money - L=0.5Y -501
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Nominal Money Supply : M =900
Price Level : P=3
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Consumption : C=100+0.75 Yd
Taxes : TA=0.2Y
Transfer Payments : TR =80
Investment 1 =39 - 16i
Government Expenditure : G =340
Demand for Money : L=02Y-8i
Nominal Money Supply : M =400 |
Price Level . P=2
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4. (a)
(b)
(a)
(b)

6
SECTION ~ C (@vs )

Explain the determinants of Natural Rate of Unemployment. (7)
What are the causes of “Wait Unemployment™? (8)
OR

Explain the effects of monetary expansion in :
(i) The Short Run
(iiy The Long Run (10)

What does the “Neutrality of Money” mean ? (5)
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(a)
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Determine the equilibrium real interest rate and real exchange rate in a large

open economy. (7)
Discuss the effectiveness of fiscal policy in a small open economy under
flexible exchange rate. (8)

OR

How does the large open economy differ from a small open economy ?  (5)

What are the effects of expansionary fiscal and monetary policies on exchange

rate and net exports in a large open economy. (10)
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